«unp UYyniGpy» OLL Quytpwd N9
Lwunwnywd b {wjwunwbh <wlpuwtnnpjul
hwlpwyhG ownwjnipjniGGtpp yupguynpnn hwGdGudnnnyp

2006p wwphth 19-h N 59U npnydwiip

Stntjwumynipynil opwimmwjwpuwpiwb Jepwjwulqitwl vwhiwljuwd duijimbtph

JuwjumdiwG yepuptpjug
Gonwduywmy I 2007 p.
=g = =
R R 35
3 5= S o 5 = = Onfuhwinnigiwdp ( Yhpwhw)qupyny )
o =S 2 =3 = o = =2 .
3 B 235 22 % 32 o 3%
e 25:2% 2528 ZE3 25 E
% 5 5 Ué 3“ E 5 g 3~ E %g g g 5 ‘5 Onjuh 0 dipwhwpdupyyuo
=g 33%‘ Ba? =B & =5 3 nfuhwwunnigyu 2 s
“ E =1 E =5 o 2 % 5 A pwdwbnpnltiph pwGwyp onh pwlwlp o
£33 £ 3 =3
A 7 = 3
1 2 3 4 5 6 7
Qu - - - - - -




